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2.  Answers should be relevant, textual and entical.

3. Mention the question numbers correctly.

SECTION - A
(HISTORY OF ENGLISH LITERATURE)

1. Answer any TEN of the following in a word, phrase or a sentence : (10 x 1 = 10)
(a)] When did French revolution take place?
(b) Who published the ‘Lyrical Ballads™
(¢) Utilitarianism stands for
(d) Define romanticism.
(¢) Who wrote Christabel?
(fi What did replace drama at the beginning of the 15t century?
(g7 Name Wordswoth’s poetical autobiography.
(h) What was the impact of industrialization?
(i Who was affected by the scientific and mechanic means of farming?

() Who acquired power and prestige in England after the industrial
revolution?

(k) What is characteristics of Coleridge’s poetry?

() Mention any two features of Scott’s novels.

(m) What kind of language did Wordsworth use in his poems?
(n) Who wrote Don Juan'and ‘Child Herald”?

(0) Mention any two Odes of Shelley.
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2.

Write short notes on any

(a]
(b]

(c)

Romantic poetry
French revolution

Lyrical ballads.

SECTION - B
(POETRY)

Annotate any FOUR of the following :

(a)

(b)

{c)

(d)

(e)

()

Answer any TWO of the following in about 200 words each :

(a)

(b)
(c)

(d)

Water, water everywhere,

And all the boards did shrink ;

I love all that thou lovest,

Spirit of delight !

New more than ever seems it rich to die,
To cease upon the midnight with no pain,

The night-mare life-in-death was she,
Who thicks man'’s blood with cold.

Let me set my mourn full ditty
To a merry measure ;

He prayeth well, who leveth well
Both man and bird and beast.

“Wordsworth prefers materialism to his sensitiveness”.

reference to “The World is too much with Us”.

Describe Shelley’s invocation to the spirit of delight.

ONE of the following in about 80 to 100 words :

(1 x5=5)
(4 x 5 =20)
(2 x 10 = 20)

Substantiate with

Bring out the contrast between world of mankind and the world of the

nightingale.

Consider ‘The Ancient Mariner’ an allergy of guilt and regeneration.

Write a short note on any ONE of the following :

(a)
(b)
(c)

Prison of Chillon
The wedding guest
Immortality of the nightingale.

[ =]

(1 x5 =35)
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SECTION -C
(ESSAYS)

Answer any ONE of the following in about 200 words : (1 x10=10)

(a) “Lamb’s’ essay discusses the immediate influence of industrial revolution
and its effects on society”. Discuss.

(b) Comment on the causes of Hazlitt's disappointment.

(c) Make an assessment of the Coleridge’s views on poetic image.

Write short notes on any ONE of the following in about 100 words : (1 x5 =5)
(a) A day's life of Chimney Sweepers
(b) Optimism in Hazliit's essay
(c) Difference between poem and poetry according to Coleridge.
SECTION - D
(NOVEL]

Answer any ONE of the following in about 200 words : (1 x10=10)
(a) “Wuthering heights” is a novel replete with contradictions. Discuss.

(b) The central conflict of the novel is strengthened by the pain and tragedy of
the leading characters. Discuss.

(c) Portray the character of Heath cliff.
Write short notes on any ONE of the following in about 80-100 words each :
(1 x5=5)
(a) Title of the novel
(b) Hatred and revenge in Wuthering Heights

(c) Catherine.
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